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  ب  تحليلاً تاماً هو  @ا ١۲تحليل وحيدة الحد  ~١

  ب× ا×  ٣×۲ ×۲ ~د   ا×  ا×  ٣ ×۲ ×۲  ~ج  ب× ا×  ا× ٣×۲ ×۲ ~ب  ب× ا×  ا×  ٦ × ۲ ~ا 

       :هو      ج ه ١۲٠،  ه  @ ج ٥٠ لوحيدتي الحد  )أ . م . ق (    ~۲

  ج  ١٠ ~د   ج ه ١٠  ~ج   ه  ج ۲  ~ب   ه ج  ٥ ~ا 

  فأن عرضه يساوي  ٥+س۲وحدة مربعة اذا كان طوله   ١٥ –س  - @ س ۲مستطيل مساحته  ~٣

  ٣ –س  ~د   ٣ +س   ~ج   ٥ –س   ~ب   ٥ +س   ~ا 

  =   ب@ ا ۲١+ @ ا ب ١٤+ ا ب  ٧  ~٤

 ) ا ٣ + ب + ١( با ٧ ~د ) ا ٣ + ب ۲ + ١(  با  <~ ) ا + ب ۲+١( با ٧ ~ب  )ا ٣ + ب۲ +١( با ٧~ ا

  =  ٥ + ا - ا ٥٠ -@ ا ١٠ ~٥

   ا ١٠) ٥ -ا ( ~د   )١ + ا ١٠)( ٥ -ا ( ~ج     )١ - ا ١٠)( ٥ +ا ( ~ب   )١ -  ا ١٠)( ٥ -ا ( ~ا 

          ھو      ا ١۲ = @احل المعادلة     ~٦

  فقط   ١۲= ا ~د   فقط   ٠ = ا  ~ج   ١۲= اأو     ١ = ا  ~ب   ١۲ -  =اأو    ٠ = ا  ~ا 

  =   $ص٨١ -@ س ٤ ~٧

)       ٩ –س ۲) (٩ +س۲( ~د )       ٩ –س۲)(@ص٩ -س۲(~ج )       @ص٩ –س)(@ص٩+س۲(~ب )       ص٩ –س٤)(٩+س٤( ~ا 
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  ........................................................................................................................................... =  ٦ +س  ٧+ @ س

   ......................................................................................................................................... =  ۲٨ –س  ٣ -@ س

  .................................................................................................................................... =   ٣ + س١١- @ س ١٠

  .................................................................................................................................. =    ۲ -س  ٧ +@ س ١٥

  .............................................................................................................................. =   ۲٥ +س  ٤٠ +@ س ١٦
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